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Abstract 
Evaluation methods of human thermal comfort that are based on whole-body heat balance with 
its surroundings may not be adequate for evaluations in non-uniform thermal conditions. 
Under these conditions, the human body’s segments may experience a wide range of room 
physical parameters and the evaluation of the local (segmental) thermal comfort becomes 
necessary. In this work, subjective measurements of skin temperature were carried out to 
investigate the human body’s local responses due to a step change in the room temperature; and 
the variability in the body’s local temperatures under different indoor conditions and exposures 
as well as the physiological steady state local temperatures. Then, a multi-segmental model of 
human thermoregulation was developed based on these findings to predict the local skin 
temperatures of individuals' body segments with a good accuracy. The model predictability of 
skin temperature was verified for steady state and dynamic conditions using measured data at 
uniform neutral, cold and warm as well as different asymmetric thermal conditions. The model 
showed very good predictability with average absolute deviation ranged from 0.3-0.8 K. The 
model was then implemented onto the control system of the thermal manikin 
‘THERMINATOR’ to adjust the segmental skin temperature set-points based on the indoor 
conditions. This new control for the manikin was experimentally validated for the prediction 
of local and overall thermal comfort using the equivalent temperature measure. 
THERMINATOR with the new control mode was then employed in the evaluation of localized 
floor-heating system variants towards maximum energy efficiency. This aimed at illustrating  
a design strategy using the thermal manikin to find the optimum geometry and surface area of 
a floor-heater for a single seated person. Furthermore, a psychological comfort model that is 
based on local skin temperature was adapted for the use with the model of human 
thermoregulation. The latter combination was used with a virtual thermal manikin on a CFD 
code for the evaluation of indoor thermal conditions and was experimentally validated using 
human subjects' tests. 

The results showed that these two approaches with the physical and virtual thermal 
manikins, using the introduced control mode, can produce a very reasonable predictability of 
the local and overall thermal comfort for sedentary activities. The average absolute deviation 
from subjective data for these two approaches was in a range from 0.25-0.5 on the thermal 
comfort scale. The thermal manikin with the new control mode may be used to optimize the 
design of HVAC systems towards energy-efficiency along with thermal comfort. 
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Tiivistelmä 
Ihmiskehon lämpöviihtyvyyden arviointimenetelmät, jotka perustuvat koko kehon ja 
ympäristön väliseen lämpötaseeseen, eivät ehkä ole riittäviä epähomogeenisissa lämpöoloissa 
tapahtuvaan tutkimukseen. Näissä olosuhteissa ihmiskehon osat voivat altistua lukuisille 
huonetilan fysikaalisille parametreille ja paikallisen segmentteihin jaetun lämpöviihtyvyyden 
määritys tulee tarpeelliseksi. Tässä työssä subjektiiviset ihon pintalämpötilamittaukset 
toteutettiin tutkimalla ihmiskehon paikallisia reaktioita sen altistuessa ulkoisiin tekijöihin, 
joita olivat sisälämpötilan askelmuutos, kehon osien paikallislämpötilan muutokset erilaisissa 
sisälämpötilaoloissa sekä paikalliset fysiologiset jatkuvuustilan lämpötilat. Monisegmenttinen 
ihmiskehon lämpösäätelymalli kehitettiin näihin havaintoihin perustuen määrittämään 
ihmiskehon osien paikallista ihon lämpötilaa hyvällä tarkkuudella. Mallin ennustamien ihon 
lämpötilojen luotettavuutta tutkittiin sekä jatkuvuustilassa että muuttuvissa olosuhteissa 
käyttäen tasaisen neutraaleissa, kylmissä, lämpimässä sekä epäsymmetrisissä lämpöoloissa 
mitattua aineistoa. Mallin luotettavuus osoittautui erittäin hyväksi keskimääräisen 
absoluuttisen poikkeaman vaihdellessa välillä 0.3-0.8K. Malli otettiin käyttöön lämpönuken 
"THERMINATOR" säätöjärjestelmässä sisäilman olosuhteisiin perustuvan kehon osien 
pintalämpötilojen asetusarvojen valinnan tarkistamiseksi. Tämä uusi lämpönuken säätötapa 
validoitiin kokeellisesti paikallisen ja kokonaislämpöviihtyvyyden ennustamista varten 
käyttäen mittana ekvivalenttilämpötilaa. Uudella säätöjärjestelmällä varustettua 
THERMINATOR-nukkea käytettiin paikallisen lattialämmitysjärjestelmän eri vaihtoehtojen 
testaukseen energiatehokkuuden parantamiseksi. Lämpönuken avulla pyrittiin löytämään 
lämmitetyille lattiaelementeille optimaalinen geometria ja pinta-ala yhden istuvan henkilön 
lämmöntarpeen tuottamiseksi . Lisäksi psykologinen viihtyvyysmalli, joka perustuu 
paikalliseen ihon lämpötilaan, mukautettiin käytettäväksi ihmiskehon lämpösäätelymallin 
kanssa. Jälkimmäistä yhdistelmää käytettiin virtuaalisen CFD-lämpönukkemallin kanssa 
sisälämpöolojen määrittämiseksi ja malli validoitiin kokeellisesti ihmistestien avulla. 

Tulokset osoittivat, että nämä kaksi lähestymistapaa fyysisen ja virtuaalisen lämpönuken 
avulla käyttäen esitettyä säätötapaa, voivat tuottaa erittäin järkeviä ennusteita paikallisesta ja 
kokonaislämpöviihtyvyydestä istuvalle henkilölle. Subjektiivisen aineiston keskimääräinen 
absoluuttinen poikkeama lämpöviihtyvyysasteikolla vaihteli välillä 0.25-0.5 näiden kahden 
lähestymistavan kesken. Uudella säätötavalla varustettua lämpönukkea voidaan käyttää 
optimoimaan LVI-teknisten järjestelmien suunnittelua energiatehokkuuden ja 
lämpöviihtyvyyden yhdistämiseksi. 
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1.3. Findings 
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The work of this thesis revealed valuable data from the subjective skin 
measurements over the local responses and the skin temperature distribution 
under the different indoor conditions. The work of this thesis also 
introduced useful comparisons and discussion of the available techniques 
and methods for the evaluation of local and overall thermal comfort. 
Furthermore, the work of this thesis introduced valuable analysis on the use 
of localized floor-heating systems under the task ambient conditioning 
concept. 

2. Skin temperature measurements 
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2.2. Experimental setup 
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2.3. Human subjects 
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2.4. Indoor conditions 
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2.5. Measurements 
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2.6. Measurements� results and observations 
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2.7. Summary 
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3. Development of the multi-segmental 
Pierce model 
3.1. Objectives 
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3.2. Pierce model construction 
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3.3. Thermal signals 
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3.4. Peripheral blood flow 
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3.5. Sensible heat losses at skin node 

���� ����� ��

�
� $�� ���������� ���� ����������� 
���� ���� �������� $���� ����

�����������
��������
����������G������
�>T������������5AD9?/�

) - T (T  f hR rclclr= ��>FH�K?� � � � � >56?�

) - T (T  f hC aclclc= ��>FH�K?� � � � � >5=?�

������

rh 0��
�����������������������������

������

�������>FH�K(?�

Tcl 0��
�������������$����
��
����������������>L#?�

rT 0��
������������������������������>L#?�

ch 0��
�������������������������

������

�������>FH�K(?�

aT 0��
���������������������>L#?�

���� 
���������� ������
�� ��� $���� 
��
���� ����� > clf ?� �
� ����������� ��� ����

�����4
���������������
����>��!.���*����������
�5AA=?/�

�
�
�

>↔+
<↔+

=
07806450051
07802901001
.II..
.II..

f
clcl

clcl
cl �� � � � � >53?�

�����������
�����������
�������������
����������
�
�����
�>�K(HF?��

����������������������������

������

�������
���������

������$����
������
�

�
������������
����>T������������5AD9?/�

3

15273
2

4  720 �
�
�

�
	

 .+)+(εσ= rcl

r
��)(.h ��>FH�K(?� � � >57?�

������

B�;60��
������������
�����$���8
��

�������������������������������$��
������

σ 0��
����
��4<���-��������
����R 428 KW/m10*67.5 − �

ε 0��
�����
	������

������>ε RB�A;?��



34 

Calculation of: 
-Skin blood flow (Skbf)
-Skin shell factor (�) 

IF (PMV<-3.1):
-Shivering heat (Mshiv) 

Assumed clothing 
temperature: 

T’cl

Calculation of heat 
transfer coefficients 

hc, hr

001.0' <− clcl TT

Calculation of clothing 
temperature: Tcl

No

Calculation of dry heat losses 
(C+R), Latent heat loss (Esk)  

Yes

Calculation of 
the total heat 
production: 

M+Mshiv

Heat loss by 
respiration 
Eres+Cres

Calculation of the stored heat at the 
skin node  

Temperatures at time step (n+1):
1
)(

+n
icoT , 

1
)(

+n
iskT , 

1+n
blT

Calculation of 
heat from core to 

skin (Hfc) 

Next time step 
(n+1)

Next segment
(i+1) 

Calculation of  
the heat from 

blood to 
skin/core 

Calculation of 
thermal signals: 

Sks, Cs, Bs

Calculation of the 
stored heat at the core

node  

For a segment (i): input parameters at a time step (n): 
n

icoT )( ,
n

iskT )( ,
n

co
n

bl TT = of the whole body 

aT , rT , v, K, clI , clf , AD, Wt, M, Pa, PB, �, �, dw, PMV
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3.6. Latent heat losses at skin node 
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�
Convective heat transfer coefficient (hc) by de Dear 

et al. (1997) 

Correlation (21) 

Segment 

Surface 
area (a), 

(m²) 
AD

Body 
mass (b), 

(kg) 
Wt

Skin 
setpoint, 

(°C) 
Tsk(set)

Core 
setpoint, 

(°C) 
Tco(set)

Sweat 
distribution 

factor (c)

(dw) constant 
(B) 

exponent 
(n) 

hc if
v <0.1 

(W /m²°C)

Head 0.16 5.22 34.88 36.75 0.8 4.9 0.73 3.7 
U. back 0.07 3.74 35.40 36.65 0.5 8.9 0.63 2.6 
Chest 0.11 7.01 34.75 36.77 1 9.1 0.59 3 
U. arm 0.08 2.44 32.93 37.20 0.7 11.4 0.64 3.4 
L. arm 0.07 1.55 33.95 36.90 0.7 11.75 0.625 3.8 
Hand 0.05 0.38 34.05 35.85 2.15 13.35 0.6 4.5 
Thigh 0.20 7.93 32.16 37.35 0.45 8.9 0.6 3.7 
L. leg 0.13 3.78 32.18 37.35 0.75 13.15 0.57 4 
Foot 0.07 0.54 33.54 36.75 1.5 12.9 0.545 4.2 
L. back 0.05 2.49 33.90 37.00 0.53 8.9 0.63 2.6 
Abdomen 0.11 9.93 33.00 37.30 0.6 8.2 0.65 2.8 
Whole body 2.04 84.77 33.70 36.80 1 8.6 0.53 3.3 
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3.7. Heat transfer from core to skin 
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3.8. Heat losses by respiration 
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3.9. Metabolic rate and shivering heat 
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3.10. Model predictability 
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Test conditions (Foda and Sirén 2011a)
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Test conditions (Foda and Sirén 2011a)
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Test conditions (Werner and Reents 1980)
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Test conditions (Foda and Sirén 2011a)
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Test conditions (Almesri and Awbi 2011)
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Test conditions (#9, Sakoi et al. 2007)
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Test conditions (#28, Sakoi et al. 2007)
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(f) L. leg
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Test conditions (A. Munir et al. 2009)
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3.11. Summary 
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4. A thermal manikin with human 
thermoregulatory control 
4.1. Objectives 
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4.2. The thermal manikin ‘THERMINATOR’ 
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4.3. THERMINATOR’s system with LabVIEW 
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4.4. Thermal manikin experiments 
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4.5. Calculation of the Teq
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4.6. Comfort zone diagram 
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4.7. Manikin calibrations 
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hcal = -0,06Teq + 6,67
R2 = 0,83

hcal = 0,01Teq + 4,90
R2 = 0,83
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4.9. Comparison’s results 

����������������	���� ��������
���������������������� �������������
�

>�����#�
��5�����#�
��6?��
���������&�����������&������
������
���������

�������������������

�
������������
�����
	��������������
���������������

���5�����������������������
�������
�$
������������������������$�������-����

��� �G�=7� ��� ���������� ���� 
��������� ���� �������� �()�� ���� �
��������


��������� ���� ���������()� $�� �����&�� ���� �����&������
� �
������ �
� ����

�
�������������
�>�
�����G��=9?�
��������
�$'��������

�

���������
�����

���*�����
�=9�����=;���������
����-���
C�$�����
�������
�����
�������������


�����
��



56 

����
�)��$
��������

������
�$������������
���������()�$��������������
���������
�$'�������
�

�

�����

�teq (K)
Case 1 Case 2   

Used coefficients in 
Eq.(2) 

�1 MTV �teq (K) �teq (K) �teq (K) �teq (K) �teq (K) �teq (K)

RT 
(m²K/W) a(a) b(a)   �MSP-MTV� �CST-MTV� �MSP-CST� �MSP-MTV� �CST-MTV� �MSP-CST�

0.18 46.7 -20.3 2.58 3.27 3.73 0.46 1.72 1.60 0.12 
0.18 46.7 -20.3 2.58 2.45 2.09 0.36 0.91 0.44 0.47 
0.18 46.7 -20.3 3.67 3.99 4.26 0.27 0.76 0.41 0.36 
0.18 46.7 -20.3 3.67 4.19 4.46 0.27 1.08 0.73 0.36 
0.19 46.7 -20.3 3.94 0.39 1.20 0.82 0.29 0.67 0.96 
0.19 46.7 -20.3 3.94 0.97 0.00 0.97 1.29 2.39 1.10 
0.34 39.5 -19.5 6.53 3.34 2.99 0.35 1.34 3.23 1.89 
0.20 65.5 -33.9 4.81 0.65 0.87 0.22 0.27 0.67 0.41 
0.11 84.9 -57.2 6.23 0.08 0.83 0.75 3.67 3.51 0.16 
0.11 84.9 -57.2 6.23 0.85 0.95 0.10 3.38 3.20 0.18 
0.24 43.0 -21.1 5 0.94 0.63 0.31 0.16 0.34 0.18 
0.24 43.0 -21.1 5 0.12 0.62 0.50 0.09 0.52 0.44 
0.24 43.0 -21.1 5.15 0.39 0.27 0.12 0.45 0.18 0.63 
0.24 43.0 -21.1 5.15 1.72 1.55 0.17 0.32 0.88 0.56 
0.28 36.1 -20.5 5.68 2.35 3.56 1.21 2.31 1.61 0.70 
0.25 36.1 -20.5 5.15 3.99 5.00 1.02 0.11 1.27 1.38 

0.20 43.8 -13.3 2.55 2.57 4.55 1.98 0.55 0.62 1.17 
   ADD (SD) 1.9 (1.4) 2.21 (1.7) 0.58 (0.5) 1.11 (1.1) 1.31 (1.1) 0.65 (0.5) 
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4.10. Summary 
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5. Application of thermal manikins in 
the design of HVAC systems 
5.1. Objectives 
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5.2. Optimization-based design strategy 
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5.3. Modifications to THERMINATOR’s program 
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5.4. Floor heater variants 
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5.5. Experimental setup and procedure 
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Surface area, Floor 
temperature,

Variant 
A (m²) 

No. of tiles 
Ts(°C)

Comfort
Criteria 

Power
(W)

Order of 
optimum 

configurations 

1& 1' 0,36 1 40  112 
2 0,72 2 40  228 
3 0,72 2 40  227 
4 0,72 2 40  224 
5 0,72 2 40  224 
6 1,08 3 40 × 277 2 

6' 1,08 3 39 × 265 1 

7 1,08 3 40  278 
8 1,08 3 40  285 
9 1,08 3 40  285 
10 1,44 4 37 × 335 3 

11 1,44 4 38 × 355 4 

12 1,80 5 36 × 375 5 

13 1,80 5 40  465 
14 2,16 6 32 × 415 6 

15 2,16 6 34 × 435 7 

16 3,24 9 31 × 474 8 
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6. Predictive methods of thermal 
comfort 

6.1. Objectives 
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Test conditions (Cheong et al. 2007)
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6.3. Comparison of overall thermal comfort models 
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6.4. Thermal sensations or comfort 
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6.5. Adaptation of a thermal comfort model 
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Case 1 conditions (Foda and Sirén 2011c)
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Case 2 Conditions (Foda and Sirén 2011c)
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6.6. Summary 
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7. Thermal comfort evaluation using a 
virtual manikin with human 
thermoregulatory control 
7.1. Objectives 
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7.2. Physiological-psychological model 
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7.3. CFD Simulations 
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7.6. Summary 
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